

# **Government Subsidised** Fee Schedule 2024

Course Code and Title	Concession/ Non-Concession	Nominal Hours	Approx. Govt. Contribution per hour	Approx. Govt. Contribution	Tuition Fee	Materials Fee	Amenities Fee	Total Student Cost	<u>Traineeship</u> Total Student Cost
CHC22015	Concession		\$7.50	¢0.040	¢0.00	\$150	\$0.00	\$150	NIA
Certificate II in Community Services	Non concession	313		\$2,348	\$0.00				NA
CHC32015 Certificate III in Community Services	Concession	615	\$7.50	\$4,6123	\$0.00	\$240	\$0.00	\$240	\$240
	Non concession								Ψ240
CHC30221	Concession	735	\$7.50	\$5,123	\$0.00	\$200	\$0.00	\$200	\$200
Certificate III in School Based Education Support	Non concession								\$200
CHC33021 Certificate III in Individual Support (Ageing and Disability)	Concession	945	\$9.00	\$8,505	\$0.00	\$320	\$0.00	\$320	\$320
	Non concession								
CHC43121 Certificate IV in Disability Support	Concession	700	\$7.50	\$5,250	\$0.00	\$240	\$0.00	\$240	\$240
	Non concession	700							

# Fee For Service Schedule 2024

Course Code and Title	Concession/ Non concession	Nominal Hours	Indicative Hourly Tuition Fee	Tuition Fee	Materials Fee	Amenities Fee	Total Student Cost	<u>Traineeship</u> Total Student Cost
CHC22015	Concession	313	\$6.65	\$2,081	¢150	A0 00	\$2,231	NA
Certificate II in Community Services	Non Concession	313	\$8.65	\$2,707	\$150	\$0.00	\$2,857	NA
CHC32015	Concession	615	\$6.65	\$4,090	\$240 \$0.00	¢0.00	\$4,330	\$4,330
Certificate III in Community Services	Non Concession	615	\$8.65	\$5,320		<b>Ф</b> 0.00	\$5,560	\$5,560
CHC30221 Certificate III in School Based Education Support	Concession	735	\$6.65	\$4,888	\$200	\$0.00	\$5,088	\$5,088
	Non Concession	735	\$8.65	\$6,358			\$6,558	\$6,558
CHC33021 Certificate III in Individual Support (Ageing and Disability)	Concession	945	\$6.65	\$6,604.25	\$240	\$0.00	\$4,962	\$4,962
	Non Concession	945	\$8.65	\$8,494.25			\$6,382	\$6,382
CHC43121 Certificate IV in Disability Support	Concession	700	\$6.65	\$4,655	\$240	\$0.00	\$4,895	\$4,895
	Non Concession	700	\$8.65	\$6,055			\$6,295	\$6,295



# **Government Subsidised** Fee Schedule 2024

Course Code and Title	Concession/ Non-Concession	Nominal Hours	Approx. Govt. Contribution per hour	Approx. Govt. Contribution	Tuition Fee per hr	Materials Fee	Amenities Fee	Total Student Cost
22636VIC	Concession	445	\$8.75	\$3,894	\$0.04	\$0.00	\$0.00	\$17.80
Course in Initial EAL	Non concession	440	φο.75	\$3,894	\$0.20			\$89.00
22637VIC Course in EAL	Concession	445	\$8.75	\$3,894	\$0.04	\$0.00	\$0.00	\$17.80
	Non concession	445		\$3,894	\$0.20			\$89.00
22484VIC	Concession	10.0	\$7.50	\$3,225	\$0.04	\$0.00	\$0.00	\$17.20
Certificate I in EAL (Access)	Non concession	430		\$3,225	\$0.20			\$86.00
22485VIC	Concession	500	<b>AT FO</b>	\$3,750	\$0.04	<b>Aa aa</b>	<b>*</b> 2.22	\$20.00
Certificate II in EAL (Access)	Non concession	500	\$7.50	\$3,750	\$0.20	\$0.00	\$0.00	\$100.00
22486VIC Certificate III in EAL (Access)	Concession	44.0	<b>*-------------</b>	\$3,075	\$0.04	\$0.00	\$0.00	\$16.40
	Non concession	410	\$7.50	\$3,075	\$0.20			\$82.00

# Fee For Service Schedule 2024

Course Code and Title	Concession/ Non concession	Nominal Hours	Indicative Hourly Tuition Fee	Tuition Fee	Materials Fee	Amenities Fee	Total Student Cost
22636VIC	Concession	445	\$6.65	\$2,959	\$0.00	\$0.00	\$2,959
Course in Initial EAL	Non Concession	445	\$8.65	\$3,849	φ <b>0.</b> 00		\$3,849
22637VIC Course in EAL	Concession	445	\$6.65	\$2,959	<b>*</b> 0.00	\$0.00	\$2,959
	Non Concession	445	\$8.65	\$3,849	\$0.00		\$3,849
22638VIC Certificate I in EAL (Access)	Concession	400	\$6.65	\$2,860	¢0.00	\$0.00	\$2,860
	Non Concession	430	\$8.65	\$3,720	\$0.00		\$3,720
22639VIC	Concession		\$6.65	\$3,325	¢0.00	\$0.00	\$3,325
Certificate II in EAL (Access)	Non Concession	500	\$8.65	\$4,325	\$0.00		\$4,325
22640VIC Certificate III in EAL (Access)	Concession	44.0	\$6.65	\$2,727	¢0.00	\$0.00	\$2,727
	Non Concession	410	\$8.65	\$3,547	\$0.00		\$3,547



# **Government Subsidised** Fee Schedule 2024

Course Code and Title	Concession/ Non-Concession	Nominal Hours	Approx. Govt. Contribution per hour	Approx. Govt. Contribution	Tuition Fee per hr	Materials Fee	Amenities Fee	Total Student Cost
22471VIC Course in Initial General	Concession	225	\$7.50	\$1,688	\$0.04	\$0.00	\$0.00	\$9.00
Education for Adults	Non concession	225	\$7.50	\$1,688	\$0.20	\$0.00	<b>Ф</b> 0.00	\$45.00
22476VIC Certificate I in General Education for Adults (Intro)	Concession	440	\$7.50	\$3,300	\$0.04	\$0.00	\$0.00	\$17.60
	Non concession	440		\$3,300	\$0.20			\$88.00
22472VIC	Concession	110	\$7.50	\$3,330	\$0.04	\$0.00	\$0.00	\$17.60
Certificate I in General Education for Adults	Non concession	440		\$3,300	\$0.20			\$88.00
22473VIC	Concession	050	\$7.50	\$2,625	\$0.04	\$0.00	\$0.00	\$14.00
Certificate II in General Education for Adults	Non concession	350		\$2,625	\$0.20			\$70.00
22474VIC	Concession		\$7.50	\$2,700	\$0.04	\$0.00	\$0.00	\$14.40
Certificate III in General Education for Adults	Non concession 36	360		\$2,700	\$0.20			\$72.00

# Fee For Service Schedule 2024

Course Code and Title	Concession/ Non concession	Nominal Hours	Indicative Hourly Tuition Fee	Tuition Fee	Materials Fee	Amenities Fee	Total Student Cost
22471VIC Course in Initial General	Concession	225	\$6.65	\$1,496	\$0.00	¢0.00	\$1,496
Education for Adults	Non Concession	225	\$8.65	\$1,946	<del>\$</del> 0.00	\$0.00	\$1,946
22476VIC Certificate I in General Education for Adults (Intro)	Concession	440	\$6.65	\$2,926	¢0.00	\$0.00	\$2,926
	Non Concession	440	\$8.65	\$3,806	\$0.00		\$3,806
22472VIC Certificate I in General Education for Adults	Concession	440	\$6.65	\$2,926	\$0.00	\$0.00	\$2,926
	Non Concession	440	\$8.65	\$3,806	\$0.00		\$3,806
22473VIC Certificate II in General Education for Adults	Concession	050	\$6.65	\$2,238	¢0.00	\$0.00	\$2,238
	Non Concession	350	\$8.65	\$3,028	\$0.00		\$3,028
22474VIC Certificate III in General Education for Adults	Concession	000	\$6.65	\$2,394	\$0.00	\$0.00	\$2,394
	Non Concession	360	\$8.65	\$3,114	φ0.00	φ0.00	\$3,114

## Yarraville Community Centre RTO TOID: 4207



Yarraville Community Centre provides all students with its 'Concessions, Fees, Charges and Refunds' policy prior to enrolment via the website and, verbally at orientation sessions.

- Yarraville Community Centre (YCC) does not charge for any Unit of Competency that is a Credit Transfer.
- In circumstances of financial hardship, individuals can request to be considered for a payment plan and/or a fee reduction or exemption.
- YCC does not charge a Tuition Fee for an individual who is from the Judy Lazarus Transition Centre, or a young person on a community based order, or is referred to training by the Department of Health and Human Services, the Department of Justice and Community Safety.
- Students referred to YCC by the Asylum Seeker Resource Centre or the Australian Red Cross can receive a Fee Concession for enrolment in a program at Certificate IV level and below.
- The student **Tuition Fees** as published are subject to change given individual unit selection at enrolment and hours per course.
- Fee calculation on full hours.
- Fee Categories are: Government Subsidised Training and Fee For Service.
- Eligibility conditions apply. Please contact YCC regarding Eligibility.
- **Concession** = Fees payable by students who provide a relevant and current concession card.
- Prices are subject to change.
- All fees will be confirmed upon enrolment.